## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Individuals with Disabilities Education Act (IDEA) Modification #1, Part B FY 1999)

RESOLUTION NO. 99-616

	RESOLUTION NO. <u>33-010</u>
1	WHEREAS, the Tohono O'odham Nation has entered into a Master Contract with the
2	Secretary of Interior for the purpose of performing certain services, functions,
3	programs and/or activities which are funded throughout the Bureau of Indian
4	Affairs for the benefit of Indians; and
5	WHEREAS, the one time increase in funding by 1998; and
6	WHEREAS, the Tohono O'odham Nation hereby exercises her right to prepare a budget
7	modification to include one time increase in funding.
8	NOW, THEREFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council hereby
9	finds that it is in the best interest of the Nation to continue to contract the
10	activities, functions, services and/or program identified in the Annual funding
11	Agreement for Fiscal Year 2000.
12	1. The Chairman of the Tohono O'odham Nation is authorized to negotiate
13	and execute the Annual funding Agreement between the Tohono O'odham
14	Nation and the Secretary of the Interior for all services, function, activities
15	and/or programs as described in the Master Contract at Article 1,
16	subsection 2, Purpose, and the Annual funding Agreement for the 2000
17	fiscal year.
18	2. In the event that Congress does not appropriate any and/or sufficient funds
19	commonly known as "Contract Support Funds: for those contracted
20	services, functions, activities and/or programs contained in the Annual
21	Funding Agreement which would otherwise be eligible for such Contract
22	Support Funds then:
23	a. The Chairman of the Nation shall notify the Secretary of the
24	Department of the Interior that the Nation retrocede, effective at
25	midnight on September 30, 2000 all programs, services, functions

	RESOLUTION NO. <u>99-616</u> (Individuals with Disabilities Education Act (IDEA) Modification #1, Part B FY 1999) Page 2 of 3
1	and/or activities contained in the Annual Funding Agreement which
2	are eligible for "Contract Support Funds".
3	b. The Chairman of the Nation is authorized to pursue any and all legal
4	remedy, which may be available to recoup "Contract Support Funds"
5	The foregoing Resolution was passed by the Tohono O'odham Council on the <u>17<sup>TH</sup>.</u> day o
6	NOVEMBER, 1999 at a meeting at which a quorum was present with a vote of $2.037.4$ FOR; $-0.00$
7	AGAINST; 128.1 NOT VOTING; and [07] ABSENT, pursuant to the powers vested in the Council
8 9	by Section 1 <u>(f)</u> of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy
10	Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of
11	the Act of June 18, 1934 (48 Stat. 984).
12	
13	TOHONO O'ODHAM LEGISLATIVE COUNCIL
14	
15	$A \sim A$
16	$\mathcal{N}_{\mathcal{L}}}}}}}}}}$
17	Dennis Ramon, Legislative Chairman
18	nd .
19	22 nd day of Movember, 19 99
20	
21	ATTEST:
22	
23	
24	July Mary
25 /	Julianna Saraficio, Acting Legislative Secretary
26	
27	17 day of Money, 19 99.
28	
29	Said Resolution was submitted for approval to the office of the Chairman of the Tohono
30	O'Odham Nation on the 22 nd day of November, 19 99 at 2:56
31	o'clock, $\cancel{L}$ .M., pursuant to the provisions of Section 5 of Article VII of the Constitution
32	and will become effective upon his approval or upon his failure to either approve or
33	disapprove it within 48 hours of submittal.
34	
35	TOHONO O'ODHAM LEGISLATIVE COUNCIL
36	
37	
38	New 12
39	Dennis Ramon, Legislative Chairman

<b>⋈</b> APPROVED	on the 23 day of Dozember, 199
[ ] DISAPPROVED	at <u>2:23</u> o'clock, <u></u> .M.
	Harry a Runon
	EDWARD D. MANUEL, Chairman
	TOHONO O'ODHAM NATION
Daturnad to the Logislation	Secretary on the <u>23 H</u> day of
neturneu to the Legisiative	Georgiany on the day of
November	.19 99 . at 3:59 o'clock. D.M.
De De C	
Mull-Da	unfr
Julianna Saraficio, Acting L	egislative Secretary

ACTION: INDIVIDUALS WITH DISABILITIES EDUCATION ACT (IDEA) MODIFICATION #1, PART B FY 1999

MOVED: COUNCILWOMAN FRANCES MIGUEL SECOND: COUNCILWOMAN EVELYN JUAN

DATE: NOVEMBER 17, 1999

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 171.8	1. MARY ANN ANTONE (Darlene Andrew)	85.9	х			Х
	2. RITA MARTINEZ (Nicholas Jose)	85.9	х			
SELLS 372.7	1. DENNIS E. JOSE	186.35	х			
J / Mai + 1	2. EVELYN JUAN ( )	186.35	х			
SCHUK TOAK 133.4	1. MARY FLORES	66.7	х			
133.4	2. AMBROSE ENCINAS	66.7	x			x
SAN XAVIER	1. TONY BURRELL	82.95	X			
165.9	2. DENNIS RÁMON	82.95	x			
BABOQUIVARI	1. FRANCES MIGUEL	143.25	х			
286.5	2. FRANCES G. ANTONE (Edward N. Kisto)	143.25	X			x
GU ACHI 209.6	CAMILLUS LOPEZ     (Louis Johnson)	104.8	X			
209.0	2. ALEX J. RAMON	104.8	x			
PISINEMO 156.8	1. BARBARA SALVICIO (Alex Antone)	78.4	X			X
150.0	2. JOHNSON JOSE ( )	78.4	x			
SAN LUCY 128.1	1. ALBERT MANUEL, JR.	64.05			X	X
120.1	2. GLORIA RAMIREZ ( )	64.05			x	
GU VO	1. FERN SALCIDO	80.0	X			х
160.0	2. GLORIA MONTANA (Phillip Antone)	80.0	x			
HICKIWAN	1. ALEX JOSE (Shirley Santos)	79.05	X			
158.1	2. LLOYD FRANCISCO (Susan Sam)	79.05	X			
CHUKUT KUK	1. KENNETH WILLIAMS	111.3	X			
222.6	2. DAVID GARCIA (Mary Audrey Juan)	111.3	X			х
Т	OTAL	2,165.5	2,037.4	-0-	128.1	[07]

<sup>\*\*</sup>PASSED VOTES